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QUESTION 1

Why would an SQL statement receive an SQLCODE of +100? (Choose two.) 

A. The result of a SELECT INTO statement was an empty table 

B. A rowset FETCH statement encountered one or more error conditions 

C. The statement references an object that is not defined in the DB2 subsystem 

D. An error occurred during the insertion of a row into an optional explanation table 

E. A FETCH statement was executed when the cursor was positioned after the last row of the result table 

Correct Answer: AB 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_10.0.0/codes/src/tpc/p100.html 

 

QUESTION 2

For a partition-by-range table, which data types can be used to define the key columns that are used to partition the
data? (Choose two.) 

A. XML 

B. BINARY 

C. DECIMAL 

D. VARCHAR 

E. DECFLOAT 

Correct Answer: CD 

 

QUESTION 3

A summary table can be easily maintained using which of the following? 

A. An auxiliary table 

B. A partitioned table 

C. A bi-temporal table 

D. A materialized query table 

Correct Answer: D 

Reference: http://www.informit.com/articles/article.aspx?p=2755707andseqNum=3 
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QUESTION 4

Given the following CREATE VIEW statement and sample data; your login id is "ROGER". What will be the result for
this query? 

A. 6 

B. 5 

C. 4 

D. 2 

Correct Answer: C 

 

QUESTION 5

Which catalog table contains the information about definition changes for an object that have not yet been applied by
the REORG utility? 

A. SYSIBM.SYSCHECKDEP 

B. SYSIBM.SYSPENDINGDDL 

C. SYSIBM.SYSDEPENDENCIES 

D. SYSIBM.SYSPENDINGOBJECTS 

Correct Answer: B 
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